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1. Two trains start at the same time for two station A and B toward B
and A respectively. If the distance between A and B is 220 km and
their speeds are 50km/hr and 60 km/hr respectively then after how
much time will they meet each other

QI XS R ATYT B I Uh-gIR BT 3R Tl TRH BT 8
qfe ITHT_ =1et hA: 50 fobHT. it wier quT eo fbHT. Tfer ger 8 3R A
JUTBH EA BN g3l 220 fhH!. 8 O fha! & 91 THh-gaR I Tl

(@) 2 hr
(B)2 hr
(c) 3hr
(d) 1 hr
(e) not
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2. The distance between two cities A and B 1s 330 km. A train starts
from Aat8am. and travels towards B at 60 km/hr. Another
train starts
from B at 9 a.m. and travels towards A at 75 km/hr. At what time do
they meet?

aﬁzrr:ﬁAazrrB o S Bl g3 330 km & | TP IS RIF A Y

a@moﬁo—ﬁﬁ/ﬁ.aﬁwﬁac"rshwmum&Fcriﬂmtcfrum»
o R B @ar?Acﬁ&ﬁ%ﬁ‘ﬁ’rﬂa%Eﬁdm@rdm‘]%l
TP e PTEA A IR () 10:00 am

(b) 10:30 am
(c) 11:00 am
(d) 11:30 am
(e) (e) not
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3. Train Aand B start at the same time. Train A travels at 55 km/ &
station X to station Y and train B travels at 80 km/hr from station Y to
station X. They cross each other after 1 hour and 36 minutes. What is
the distance (in km) between station X and Y?

CTAMRBUG S AT H Y& BT 8l CTAWRITX Y XWXIA Y
db 55 Forﬂ/‘aaoﬁrri%rawa—cﬁ%&ﬁ?é—rrsém?xaa &I
g 80 o . eer Fr i A wredl g1 9 e 3R 36 e & 918
U g\{-l\ico\ltﬂqc gl WIAX 3R Y @(Forﬁ.ﬁ)w%?

(a) 196
(b) 232
(c) 240
(d) 216
(e) (e) not
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4. Atrain starts from A at 7 a.m towards B with speed 50 km/h.
Another train starts from B at 8am. with speed 60 km/h towards A.
Both of them meet at 10 a.m. at C. The ratio of the distance AC to BC

IS&E Wﬂa‘w 00 ISl A B Bt 3R 50 fhHT./HeT aUT gar!
BIAT

3R gEE 8 : 00 T 60 T/ P I ¥ IA-T URH Hdl o
QM C IR

10 ol gog A 81 AC TUT BC RAl BT 3JUTd 9l |

(a) 5:6
(b) 54
(c) 65

(d) 45
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5.Pand Q are 27 km away. Two trains with speed of 24 km/hr and
18 km/hr respectively start simultaneously from P and Q and travel in
the same direction. They meet at a point R beyond Q. Distance QR IS

P AYT'Q U QX ¥ 27 fohHT. QR 8| &f XSl shHT: R P

duro 9
9—14?& 24F—n°r/€iaa%n181>—n°r/aac‘°ram© P Bl 3R T
H 81 d'Q U g U fag 'R TR A g1 I QR Pl
Q"ram@ﬂ’rl
(a) 126 km
(b) 81 km
(c) 48 km

(d) 36 km
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6. Atrain leaves a station A at 7am and reaches another station B at 11 &3

am. Another train leaves B at 8 am and reaches A at 11.30 am. The
two trams cross one another at
P YS! W A" I UTd: 7 Fof I URY Bl & aUT g8
@QF[ B |

TR 11:00 I Ugd ST & | GERI ISHTTS!, R 'B' I UTd: § Fof
EISEII

R HhIh ,@?’A R JSe 11 ;30 SIS ug\d EIIERIEDS
aHFl XSl fhd a9 Th IR i UR Al |

(a) 8:56 am
(b) 8 : 36 am
(c) 9:00 am
(d) 9:24 am
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7. Two trains started at the same time, one from A to B and the other

from B to A, If they arrived at B and A respectively 4 hours and 9

hours after they passed each other, the ratio of the speeds of the two
trains was

XTSI Uh Bl TH R UYH AY B & [T AU GIRI B T A
& T Ia URYH B ¢ | T GN B] UR B & d1G d AR
BAUTAfSE ™4  ©c duro °¢ a1g Ugdd! g | §di 39H! 91d]
1 3UTd T G|

(a) 2:1
(b) 3:2
(C) 4:3
(d) 5:4
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8. Two trains are moving In the same direction at speed of 60 km/hr an “~"
70 km/hr. The time taken by faster train to cross a man sitting in the
slower train is 2 minutes 42 seconds. What will be the length (in metres)

of the faster train?

al Yermtear 60 fob. =Y. ufa ger qur 7o fos 1t ufa ger ot nfa 3 I=mM
ey = &t &1 oo TIfd areft Yarmet et fd areft Yt & o

AR PIUR B T 2 [T 42 Vb€ ST 90T Al 21 I Tfd arelt
iﬂTﬂ@,"rE m@‘@ﬂaﬁ)w g
(a) 220
(b) 330
(c) 450

(d) 540
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9. Two trains are running in opposit direction with the same speed. If th&&s
length of each train is 240 meters and they cross each other in 12 seconds.
The speed of each train (in km/ hour) Is

&l YISt U A 91d ¥ 99 Yol & | fausid fezmeit # 9ad &9,

GO HI IR B H 12 Y. BT JHI Al § | TP IeTS! D1 ard
(km/h) _

S Saic GIHl XISl Bl avTs THH § 240 Iﬁ(‘g) -
(b) 10
(c) 36
(d) 18

)
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10.Two trains are moving In the opposite direction at speed of 43 km/hr and
51 km/hr respectively The time taken by the slower train to cross a man
sitting In the faster train is 9 seconds. What is the length (in metres) of the

slower train ?

&I NEITS ATl T 43 fob A ufd derqur 51 o #r ufd dersi nfa @

fadta
ﬁszrrfraa@r% it I aTelt YerTrSt, Y oot i aTelt YerTat |

3¢ A P URBAA T 9 Tbs A 21 fef 71fy arelt Yame
D dHTs (Hiex #) fbdi 82

(a) 235

(b) 338.4

(c) 470

(d) 940
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11. Two trains start from station A and B and travel towards each other a “~
speed of 50 km/ hr and 60 km/hr respectively . At the time of their
meeting,the second train has travelled 120 km more than the first. The

distance between A and B |s

&l YETTSaT & e Yad WAl AJUTB Y UH iR © :
fopeit/deTaT 60 T, /HeT & T1fd A I B %la—ﬁﬁaﬁ%sw
doh QORI XelTTo! Ugdil Xemel ¥ 120 fhH! ST1aT1 g3t a9 H gl glal
g1 ATUTB & &g &1 &3 Fard|

(@) 990 km

(b) 1200 km
(c) 1320 km
(d) 1440 km
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12.Two trains, A and B, start from stations X and Y towards each other, they
take 4 hours 48 minutes and 3 hours 20 minutes to reach Y and X
respectively after they meet. If train A is moving at 45 km/hr., then the

speed of the train B Is

Gl YT A dUT B!, TR X dUTY ¥ Uh-gR Bl dRW ol
YRY Dl

g1 Y TUT X LT b Uge H hH: 4 °E 48 e T 3 62 20
e ST IFg Adl § afe Yd A' &1 I1d 45 feHl/der g1 gdrd Yaat 'B
D1 el JTd DPISTE?

(a) 60 km/hr
(b) 64.8 km/hr
(c) 54 km/hr
(d) 37.5 km/hr
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Two trains, Kanpur Malil and Delhi Mail, start at the same time from stations
Kanpur and Delhi respectively towards each other. After passing each other, they
take 12 hours and 3 hours to reach Delhi and Kanpur respectively. If the Kanpur
Malil |s movmg at the speed of 48 km/hr, the speed of the Delhi Mall is
¢, PR A 3R foeell A, T & o R 99J-I-‘2I BIYR 3R feeeit
LI Y Th- I 1 3R Y gIdl 81 T GHR bl UR R & e, 3% facall
%col—lge gg o+ H HH: 123%3?R3 g T I’Cﬁ?cowge e 48 '
fobeil/ereT ot Tl ¥ <et T@1 &, dl feeedl et i 1fd 8

(a) 90 km/hr
(b) 96 km/hr
(c) 86 km/hr
(d) 84 km/hr
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The distance between two stations, Delhi and Amritsar, is 450 km. Atrain starts at
4 p.m. from Delhi and moves towards Amritsar at an average speed of 60 km/hr.
Another train starts from Amritsar at 3.20 p.m. and moves towards Delhi at an
average speed of 80 km/hr. How far from Delhi will the two trains meet and at

what time?

- G WM, el 3R TR & §id @l 50F‘£ﬁ%|é¢r5rﬂ4 o -%:[Bﬁ?ﬁl
& facel ¥ 3R SaeR $1 3R Fgel @ Tfdr 60 fopHl/Ee §?‘T

TR W 3.20 Fol G SIRTE 3R 80 FpHfl/eieT Bt oiad i d faceh &)
ﬁaaﬁ%@*ﬁrﬁ—d:ﬂ@aﬂ‘réﬁﬁaﬁaﬁv?—awﬁéﬁ?

(a) 5.30 p.m. (b) 5.50 a.m. (c) 6.50 p.m. (d) 6.30 a.m.
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. Two trains measuring 100 m and 80 m respectively, run on parallel lines of
track. When travelling in opposite directions they are observed to pass each other
In 9 seconds, but when they are running in the same direction at the same rate as
before, the faster train passed the other in 18 seconds. Find the speed of the two
trains In km per hour
 SPHT: 100 HICR 3R 80 HieX dTefl g ¢ <o T JHMIGR XT3l TR =il €1
faoRi fe=msft o gr Rd THT 36 9 ehs H Udh-guR o] UR $HRd §U S
S 8, oifebT ST d U8l bl ke JHH 1 F T gﬁw EEN esﬁ%
d91 ¢ 18 ¥h s H Th-gIX Bl UR c?x‘rﬂ?ﬁ%l &I el cDriTl%rFTﬂl;ri?r‘aET

o 37d BT
(a) 12 km/hr, 5 km/hr (b) 14 km/hr, 18 km/hr (c) 16 km/hr, 54 km/hr (d) 18
km/hr, 54 km/hr




